Review and EQAO Practice for Chapter 8 — Surface Area and Volume
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B The cylinder pictured below has a volume of

500 cm? and a height of 10 cm.
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Fl This diagram shows a greenhouse that is built
in the shape of a half-cylinder.
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Material to cover the roof costs $3/m2. The
shaded ends will not be covered. Which 1s
closest to the cost of covering the roof?

@ $7540
b

$12 570
¢ $15080
d $37 700

Al A cone is pictured below.
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Hint:
Use Pythagorean theorem
as part of your process.

Which of the following is closest to the
surface area of the cone?

a 267 cm?
@ 283 em?
¢ 691 cm?
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P The figure pictured below is made up of a cone

on top of a cylinder.
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The cylinder has a volume of 96 cm?.

What is the volume of the figure?

a 120em? Vse 'I'LQ_ qu:-JS 49 {‘lad
@ 128 cm? the Vvolvme of the cone
c 144 em’ V= r LL\

d 192cem? —
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The container pictured below is made up of

a cone and a cylinder. The cone and the
cylinder have the same height.

P N A
i
lf.’l\
/1 \\
for
for
."f (I
for
zo ! ! \\
! 1 \
/ | |
! ! \\
/ | \
! 1 \
."f 1 A
! ! \\
f I \
Nk
40 cm (L et-——3
M —
20
L0 7 E
e P

«— 12 cm —>

Veone=Tr 2y

3
=7v(6)"-20

2
= 'I'ss“i?v'-3

/;Vc ylincler = TTr *h
=T (6Y .20
=226l QU3
Veone +V‘J|;...J¢.r
= 753.98 +2261.94
= 3015-92em?

Which of the following is closest to the
volume of the container?

2013 >

PH An open-topped paper drinking cup in the
shape of a cone is pictured below.
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Which is closest to the amount of paper
required to make the cup?
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a 226l cm’

©

3016 cm?

c 3393 cm’

d 4524 cm?
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The cylinder and the cone shown below
have the same height and radius.

Volume of cylinder = ? X Volume of cone

What number completes this equation?

O :

b 2
c L
d L



2018

iE What Height?

Two containers are pictured below. One container is a cone, and the other is a rectangular-based prism.
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The cone 1s completely filled with water, and then the water is poured into the empty prism, without
spilling.

Determine the height of the water in the prism.

Show your work.
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7.0‘1 @ Don't Let It Melt!

A model of an ice cream cone made up of a cone and a hemisphere is pictured below.
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The total surface area of the model will be painted at a cost of $0.0035/cm?.
Determine the total cost of painting the model.

Show your work.
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Coated Cones

¥oo nd calevtate the Abase oS the Jro,o is

An ice cream store offers chocolate-coated cones as shown in the diagram below.

St=at+bt
stz (tyiet
S*= 03¢
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s=11.66

The cone 1s open topped, and the entire outside is coated in chocolate.
Determine the area of the surface that is coated in chocolate.

Show your work.
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Z 0 ‘} Cutting Cones

The figure pictured below is a cone with its top portion removed.
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Determine the volume of this figure. 3

Show your work.
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